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2) X HDER (B /M)
<1. —BREBE>

OF 1+ 1,450,000 1,508,930 58,930 104%

QEBRAE 6,670,000 6,926,121 256,121 104%
| 1@ EBREEE 7,500,000 6,820,868 A 679,132 91%

@ AR AR 780,000 1,715,500 935,500 220%|5E 1

N at (A) 16,400,000 16,971,419 571,419 103%

<2. —REEE>

DIEREXE 32,590,000| 33,705,566 1,115,566 103%

@ Y NT—Yay 2,002,000 1,930,106 A 71,894 96%
| 1@ BHE-TREE 29,162,000| 33,542,896 4,380,896 115%

@RE-MREE 7,172,000 9,922,194 2,750,194 138%
| |® BIHERESE 5,896,960 5,898,722 1,762 100%
ROCEFIVEYVA 720,000 864,516 144,516 120%

@ FIEREEEE 150,000 30525| A 119475 20%

N BE (B) 77,692,960 85,894,525 8,201,565 111%[3F2

<3. FlE&>

D FEE (C) 1,000,000 0| A 1,000,000 0%

— B HEE (D) 95,092,960 102,865,944 7,772,984 108%
<A BEEEEBEAE>

|Eiﬁ§$kimﬁ%(a 400,000 0] A 400,000 0%
<5. BEARE>
| (B ARFEE (F) 8,000,000 8,000,000 0 100%

LEIZTHEE (DHE+F=G)] 103492960| 110,865,944 7,372,984 107%
<6. HAl=EXH>

lsReszmas ¢ 0 0 0 0%
<7. BAKRRFE>
| (fBEAERBESDEE D 0 0 0 0%

BXHEET (H+I+J=K)| 103,492,960 110,865,944 7,372,984 107%

=N 113,780,000 124,349,193 10,569,193 109%

X HEE 103,492,960 110,865,944 7,372,984 107%

HHUN =R 10,287,040 13,483,249 3,196,209

BIRA & &t 115,832,190 126,401,383 10,569,193 109%

X =&t 103,492,960 110,865,944 7,372,984 107%

U X EZE 12,339,230 15,535,439 3,196,209
HEEEEES 10,000,000 10,000,000 0 100%

REpIEHEE 2,339,230 5,535,439 3,196,209
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